0

1,400,000

N = 0] &F AF S & AN A
20148 = 20 A LEHSH HIOlE 4
EM: HolsHd
I HIO|IAYE ZEYEEAA 25
G2 HI0|4Y DNEsiz 2249 AN sy (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
gHolesd 17,094,665 9,531,465 7,563,200
2 5,130,000
&< 11,964,665
HIOIQAY ZELEMHH = 17,053,400 9,490,200 7,563,200
2 5,130,000
== 11,923,400
HIOIQAY DNESIE 224 AWM =Y 869,000 2,770,200 A 1,901,200
228 A Ho|8H 4 370,000 350,000 20,000
403 XX S M S K201 & 370,000 350,000 20,000
02 SII2S 0 CHsHOH e A I 370,000 350,000 20,000
OHI0I2 ZHMEsHPAIYE 200,000
OztstME2sd4dH 2E(UHE) 100,000
OXXHM 228 AHAS=AY 70,000
BIOI 4t SH S0 EAt 139,750 140,950 A 1,200
201 gBt24y| 1,750 1,750 0
01 AP 2t 2| H| 1,750 1,750 0
SLHIOILHME SEUSH AAE 1,750
202 04d| 2,000 2,000 0
01 2L I 2,000 2,000 0
Odiole2dd Al 4 2 EEES (| 2,000
301 et A= 36,000 36,000 0
11 JIEtE &= 36,000 36,000 0
OFSHEQA AREHZ2 36,000
308 XX EHSO|IA 100,000 100,000 0
06 It X2 100,000 100,000 0
Ost=2& OI0IAHD SHAXNKF(HE) 100,000
DEIIIX BI04 ROAIY =4 359,250 2,279,250 A 1,920,000
201 2Et24Hy| 4,250 4,250 0
01 AP 22| d| 4,250 4,250 0
OHI0I LA XS AMAIEY 2 EFAHX2 4,250
307 212t0| & 80,000 100,000 A 20,000
02 QI2tAAMNSE X2 80,000 100,000 A 20,000
OHIOIHME tEHAIEHE K& 80,000
403 XX S HS K20 & 275,000 2,175,000 A 1,900,000
02 BII2SCHSHCHE AFS HI 275,000 2,175,000 A 1,900,000
Osd=EaA AH AMLOAON A9k I IH e (
te) 275,000
NEES HOIAE 4 X 3,432,000 1,720,000 1,712,000




2N
X ZH -
L= B

el

Hols4
[og]

Ol ZmE e
ANAS3s Holady 4 X

2EAMA 2=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 2,032,000
stgdiolad 4 1,440,000 1,440,000 0
& 1,200,000
< 240,000
308 XXM SO A 900,000 900,000 0
& 750,000
< 150,000
01 IXNHHBNEES 900,000 900,000 0
Ogtgdtolee sl X 360,000
= 300,000
< 60,000
O=2=2¢ J¥A ol ey 4 540,000
& 450,000
< 90,000
403 MHtXISHHE =0l & 540,000 540,000 0
& 450,000
< 90,000
01 XM A=2E X 540,000 540,000 0
OWdJls et Mok LEDAESE 25 540,000
& 450,000
< 90,000
St HIOI 2 R8D & &t 1,252,000 240,000 1,012,000
202 odl 2,000 0 2,000
01 S LHOIYI 2,000 0 2,000
OstgHol olZet RE(dR) =X 2,000
308 X EHHSOIA 240,000 240,000 0
01 HIXNHHNBMNEES 240,000 240,000 0
OJlsd %8S Madlg 75 60.000
O%x=z3t BE&E SAE 29 60,000
Oty =58 AN ALY 120,000
403 MtXISHHES A0l & 1,010,000 0 1,010,000
02 3|25 0l CHSHCH & At & HI 1,010,000 0 1,010,000
O2zY dAs AZHZT AEAMNE 2F(US) 1,000,000
OFAHE HIOIR2BE HOZ2HAH 2F(US) 10,000
oAZID sY =4 540,000 40,000 500,000
403 MHXHHSA=0l& 540,000 40,000 500,000
02 S| 2 S0il CH &HCH & A B 540,000 40,000 500,000
O8=88 S-g8€AJJ JlsWegXd 500,000
O2=J17 &4-stgs HAHTP=F 40,000
SHYTAXSHAEH JIsELAY 200,000 0 200,000
& 200,000
403 A X EHHS =0l A 200,000 0 200,000




2N
X ZH -
L= B
el

Hols4

Ol ZHEHMA 2=
ANSEES3 Holatd =

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 200,000
01 XM A=2EE 200,000 0 200,000
SIHTAXSHEH JIsE2AY 200,000
& 200,000
HOI2 HCIZE 3 BdE L3t 12,752,400 5,000,000 7,752,400
= 3,730,000
< 9,022,400
2014 L& MBI A A AL I X 12,682,400 5,000,000 7,682,400
& 3,730,000
= 8,952,400
201 Let24d] 14,000 0 14,000
01 At 22l 14,000 0 14,000
OdAZ HFXNAE2AS 24| 12,000
OAdAZE X HRFX S &H| 2,000
202 (44l 4,500 0 4,500
01 SLHOIYI 4,500 0 4,500
ONAT (HIE2 L PREX 4,500
203 YR =&l 13,900 0 13,900
03 Al Z=XH R =AH| 13,900 0 13,900
OAUAZT =QEO R FX 13,900
306 £ 3 12,650,000 5,000,000 7,650,000
& 3,730,000
< 8,920,000
01 &3 12,650,000 5,000,000 7,650,000
02014 L& 2 MBI 24 AT Jf X 12,650,000
= 3,730,000
< 8,920,000
2014 SSONXHHAE HdYASZMLZURARAS 3 70,000 0 70,000
o izl
201 24l 70,000 0 70,000
03 &Ar2 I 70,000 0 70,000
OSSOtAXSHHMAE HdF M2 A3
N = 70,000
#HY2HZH (B0 4Dt 41,265 41,265 0
Jl= &l 41,265 41,265 0
Jl=dl 41,265 41,265 0
201 Let24d] 12,915 12,915 0
01 At 22/l 12,915 12,915 0
OJle=+=&Hl 5,430
OPIE=1i:] 7,485
202 (44l 28,350 28,350 0




EA: H0lE4 D
M HY2HAH|(HI0ILE|SA 1)
ch: JI24dd|
- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 &lgﬁ
01 2L Hl 28,350 28,350

OJl=08l 28,350




